Bridge at the Lunatic Fringe --  Number 6 – 

Finesses are not always 50-50

In today’s article we’ll take a respite from the theme of exceptions to “2nd hand low”, to feature a hand in which another bridge chestnut “cover an honor with an honor” plays an important role.  This deal was adapted from one that occurred in a recent Knock-out event, and was reported to me by Larry Lau.  I’ll return to the theme of “2nd hand low” exceptions in future articles.

With Minna’s regular partner Majorca out briefly following a liposuction operation, the demure Minna was paired (unhappily) with the loudmouth Cecil Horne in an IMP pairs event at theLunatic Fringe Bridge Club.  This deal occurred mid-way through the session:




Minna (North)





S  Q 5





H  K 10 9 7 3





D  A 2




C  A Q J 4
Warren (West)





Professor Lobochevski (East)
S  10 6 3





S  K 8 7 2

H  4






H  8 2

D  K Q J 9 7 6 4




D  10 5
C  8 6






C  K 9 7 3 2




Cecil (South)




S  A J 9 4





H  A Q J 6 5





D  8 3





C  10 5

Cecil opened the bidding with 1 Heart, and Warren made the preemptive jump to 3 Diamonds.  Minna cue-bid 4 Diamonds, and persevered with Blackwood after Cecil’s attempt to sign off in 4 Hearts.  6 Hearts became the final contract.
After the opening lead of the Diamond King, Cecil made short shrift of his analysis of the hand, and proceeded to bluster his way through the play.  He needed to avoid a diamond loser, and the most straight-forward way to do so was to hope for successful club finesse.  Then his diamond loser could be discarded on the third round of clubs.  
But Cecil also saw an extra chance.  If he led the Q of spades from dummy, and East covered with the King, he could attempt to ruff out the 10 of spades, setting up the 9 for a discard of the diamond in dummy.  If this line failed, either because East did not produce the King of Spades, or because the 10 did not drop in 3 rounds, Cecil still had the club finesse to fall back on.
So playing rapidly, Cecil won the Ace of diamonds, and drew trumps in two rounds, ending in dummy.  He then led the Queen of Spades, but rose with the Ace when the Professor smoothly played 2nd hand low, failing to cover.  Cecil subsequently went down 2 when the club finesse lost, and berated Minna mercilessly for her aggressive bidding.  
Looking at the club suit in dummy, Professor Lobochevski had worked out in advance that declarer likely had alternative lines for eliminating his diamond loser.  From the professor’s point of view, declarer might have the A J 10 of spades, in which case, covering would be wrong.  He wanted to encourage declarer to try the club finesse instead.
Pondering this hand the following day, the Professor saw several problems with the chosen line of play.  First of all, declarer might have let the Queen of spades ride when he played 2nd hand low.  If East did NOT have the King of Spades, then the club finesse was doomed to fail, as West would not have made a preemptive bid with a long diamond suit headed by the K Q (& probably J), and two outside Kings in addition.  This would give West a hand that almost everyone would agree is too strong for a preemptive action.  Put another way, if the Queen of spades was losing to West’s King, then the club finesse was also doomed to failure.  So running the Queen of Spades was called for when the Professor did not cover.
Furthermore, was a primary reliance on the club finesse really the correct line of play from the outset?  A legitimate alternative line is to play East for both the King and ten of spades, planning to finesse twice.  Normally, a finesse play that requires one card “in the slot” is superior to a play that requires two cards “in the slot”, but the odds can change considerably in distributional hands.
The general principle to understand is that the odds of finding any specific card in one opponent’s hand is directly related to the number of unknown cards in each opponent’s hand.  This idea is best illustrated using the above hand:

West is known to have 6 or 7 diamonds for his preemptive bid.  If East begins an echo(standard signaling) with the 10 of diamonds at trick one, we can place him with two diamonds, and West with 7.  West also shows up with 1 heart, and East 2.  So there are 8 known cards in the West hand (7 diamonds and 1 heart), and 4 known cards in the East hand (2 diamonds and 2 hearts).  So the unknown cards in the two hands are 5 and 9 for West and East respectively.  This would make the odds of finding West with the King of diamonds just 5:9 or about 36%   (5/14).  
But it is even worse than this, because this counts all hands where West has the King of diamonds and the King of spades as well… almost impossible given the preemptive bid.  This further reduces the chance of successful club finesse to less than 25%.

On the other hand, finding both the King and ten of spades with East is (9/14)*(8/13), almost 40% and so clearly superior.

At the time declarer must decide between trying the club finesse or the double spade finesse, the 14 unknown cards may be anywhere from 3:11 (West has 7 diamonds and all 3 hearts) to 7:7 (West has 6 diamonds and no hearts).  Here are the odds of both lines, again assuming that if West has the King of diamonds, he cannot have the King of Spades.
	
	
	
	Chance of Club finesse
	
	
	Chance of double Spade finesse

	Division of unknown 14 cards  W:E
	West has Club K
	AND East has Spade K
	
	East has Spade K
	AND East has Spade 10
	

	
	
	
	
	
	
	

	3:11
	3/14
	11/13
	18%
	11/14
	10/13
	60%

	4:10
	4/14
	10/13
	22%
	10/14
	9/13
	49%

	5:9
	5/14
	9/13
	25%
	9/14
	8/13
	40%

	6:8
	6/14
	8/13
	26%
	8/14
	7/13
	31%

	7:7
	7/14
	7/13
	27%
	7/14
	6/13
	23%


It is so counterintuitive!!!  The club finesse is superior ONLY if it appears that West started with 6 diamonds, and shows up with a heart void.  Otherwise, the double finesse in spades is better.

Of course, no one can actually calculate these odds at the table; but there is a line of thinking that gets declarer to the right conclusion:

1. If the club finesse is working (Club King with West), then the King of Spades will certainly be with East (based on West’s weak jump overcall).  Hence playing spades first cannot hurt.  If the Queen is not covered, repeat the finesse and discard dummy’s remaining diamond on the Spade Ace.

2. If the Queen of Spades is covered, you could now finesse West for the Club King or East for the Spade 10.  Since in most cases, there are still more unknown cards in the East hand, the Spade finesse is superior.  
It is true that if you commit to Club finesse, you could first try to ruff out the 10 of spades as an extra chance.  But the hands where East does not have the 10 of spades are the ones where he is most likely NOT to have covered the Queen, as declarer could have A J 10, and the cover would give the whole show away.  So all in all, a second round finesse for the spade 10 seems best.
